

**QUASI - n - BINORMAL OPERATORS**

**Dr.R.Jeetendra<sup>1</sup> D.Kavitha<sup>\*</sup>**

<sup>1</sup>Assistant Professor, Department of Mathematics, Kongu Engineering college, Perundurai, Erode-638060, Tamil Nadu , India

<sup>\*</sup> Associate Professor, Department of Mathematics , JCT College of Engineering and Technology, Pichanur, Coimbatore -641105,Tamilnadu,India

<sup>\*</sup> denotes Corresponding Author

**Abstract :** In this paper, we investigate some basic properties of quasi – n – binormal operators acting on a Hilbert space H. Further we study quasi – n – binormal Composite integral operators.

**Subject Classification:** 47B15, 47B20, 47B25

**Keywords:** Binormal operator, n – binormal , quasi n – binormal, n - Normal

**1 Introduction**

Let H be a Hilbertspace L(H) be the algebra of all bounded linear operators acting on H. An operator

$T \in L(H)$  is called normal if  $T^*T = TT^*$  n – normal if  $T^*T^n = T^nT^*$  binormal if  $T^*T$  commute with  $TT^*$ . Isometry if  $T^*T = I$ .

2 – isometry if  $T^{*2}T^2 - 2T^*T + I = 0$

3 isometry if  $T^{*3}T^3 - 3T^{*2}T^2 + 3T^*T - I = 0$

n – isometry if  $\sum_{k=0}^n (-1)^k \binom{n}{k} T^{*n-k} T^{n-k} = 0$

(or)

$$T^{*n}T^n - \binom{n}{1}T^{*n-1}T^{n-1} + \binom{n}{2}T^{*n-2}T^{n-2} + \dots + (-1)^{n-1} \binom{n}{n-1}T^*T + (-1)^n I = 0$$

n – binormal if  $T^*T^nT^nT^* = T^nT^*T^*T^n$ .Quasi n – binormal if

$$T(T^*T^nT^nT^*) = (T^*T^nT^nT^*)T$$

**Theorem 1.1** If  $T \in [Q_nBN]$  then so are

- 1)  $kT$  for any real number  $k$
- 2) Any  $s \in L(H)$  is unitarily equivalent to  $T$ .
- 3) The restriction  $T/M$  of  $T$  to any closed subspace  $M$  of  $H$  that reduces  $T$ .

**Proof:** 1. The proof is straight forward.

2. Let  $s \in L(H)$  be unitarily equivalent to  $T$ , then there is a unitary operator  $u \in L(H)$

Such that  $S = UTU^* \Rightarrow S^* = UT^*U^*, S^n = UT^nU^*$

If  $T$  is quasi- $n$ -binormal then  $T(T^*T^nT^nT^*) = (T^*T^nT^nT^*)T$

Consider  $S^*S^nS^nS^* = UT^*U^*UT^nU^*UT^nU^*UT^*U^* = UT^*T^nT^nT^*U^*$

$S(S^*S^nS^nS^*) = UTU^*(UT^*U^*UT^nU^*UT^nU^*UT^*U^*) = UTT^*T^nT^nT^*U^* \dots\dots\dots(1)$

$(S^*S^nS^nS^*)S = (UT^*U^*UT^nU^*UT^nU^*UT^*U^*)UTU^* = UT^*T^nT^nT^*TU^* = UT^*T^nT^nT^*TU^* \dots\dots\dots(2)$

Hence  $S$  is unitarily equivalent to  $T$ .

- 4) If  $T$  is quasi- $n$ -binormal the  $(T/M) \in (\text{Quasi } nBN)$

**Theorem 1.2** If  $T \in L(H)$  is  $n$ -Binormal then  $T \in (\text{Quasi } nBN)$

**Proof:** If  $T$  is  $n$ -binormal, then  $T^*T^nT^nT^* = T^nT^*T^*T^n$

Post multiply by  $T$

$T(T^*T^nT^nT^*) = (T^nT^*T^*T^n)T$

Hence  $T$  is quasi- $n$ -binormal.

**Theorem 1.3** Let  $T \in (Q_nBN)$  and  $S \in (Q_nBN)$ . If  $T$  and  $S$  are doubly commuting then  $TS$  is quasi- $n$  Binormal.

**Proof:**

$(TS)(TS)^*(TS)^n(TS)^n(TS)^* = (TS)S^*T^*S^nT^nS^nT^nS^*T^*$

$$\begin{aligned}
 &= STT^*S^*T^nS^nT^nS^nT^*S^* \\
 &= STS^nS^*T^*T^nT^nT^*S^*S^n \\
 &= SS^*TS^nT^*T^nT^nT^*S^*S^n \\
 &= S^*S^nSTT^*T^nT^nT^*S^*S^n \\
 &= S^nS^*TST^nT^*T^*T^nS^nS^* \\
 &= S^nT^nS^*T^*S^nT^nS^*T^*ST \\
 &= (S^*T^*)(S^nT^n)(S^nT^n)(S^*T^*)(TS) \\
 &= (TS)^*(TS)^n(TS)^n(TS)^*(TS)
 \end{aligned}$$

Hence  $TS$  is quasi -  $n$  - binormal.

**Theorem 1.4 :** Let  $S$  and  $T$  be commuting (QnBN) operators such that  $(S + T)^n$  commute with

$$\sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k. \text{ Then } (S+T) \text{ is } n - \text{binormal operator.}$$

**Proof**

$$\begin{aligned}
 (S + T)(S + T)^*(S + T)^n(S + T)^n(S + T)^* &= (S + T) \left( (S + T)^* \sum_{k=0}^n \binom{n}{k} S^{n-k} T^k \right) \left( \sum_{k=0}^n \binom{n}{k} S^{n-k} T^k (S + T)^* \right) \\
 &= \\
 (S + T) \left( (S + T)^* S^n + (S + T)^* \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + (S + T)^* T^n \right) &\left( S^n (S + T)^* + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k (S + T)^* + T^n (S + T)^* \right) \\
 (S + T) \left( (S^* + T^*) S^n + (S + T)^* \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + (S^* + T^*) T^n \right) &\left( S^n (S^* + T^*) + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k (S + T)^* + T^n (S^* + T^*) \right) \\
 (S + T) \left( S^n S^* + T^* S^n + (S + T)^* \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + S^* T^n + T^* T^n \right) &\left( S^n S^* + S^n T^* + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k (S + T)^* + T^n S^* + T^n T^* \right)
 \end{aligned}$$

Since  $S$  and  $T$  are commuting Quasi  $n$  Binormal operators such that  $(S + T)^*$  commute with

$$\begin{aligned}
 & \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k. \\
 = & \\
 & (S+T)(S^n S^* + S^n T^* + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k (S+T)^* + T^n S^* + T^n T^*) \left( S^* S^n + T^* S^n (S+T)^* \sum_{K=1}^{n-1} \binom{n}{K} S^{n-K} T^K + S^* T^n + T^* T^n \right) \\
 & , \\
 & = SS^n S^* + SS^n T^* + S \sum_{K=1}^{n-1} \binom{n}{K} S^{n-K} T^K (S+T)^* + ST^n S^* + ST^n T^* + TS^n S^* + TS^n T^* + T \sum_{k=1}^{n-1} \binom{n}{k} \\
 & S^{n-k} T^k (S+T)^* + TT^n S^* + TT^n T^* \left( S^* S^n + T^* S^n + (S+T)^* \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + S^* T^n + T^* T^n \right) \\
 & = S \left( S^n S^* + S^n T^* + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k (S+T)^* + T^n S^* + T^n T^* \right) + T (S^* S^n + T^* S^n + \\
 & (S+T)^* \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + S^* T^n + T^* T^n) \left( S^* S^n + T^* S^n + (S+T)^* \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + S^* T^n + T^* T^n \right) \\
 & = \left( S^n S^* + S^n T^* + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k (S+T)^* + T^n S^* + T^n T^* \right) X \\
 & (S+T) \left( S^* S^n + T^* S^n + (S+T)^* \sum_{k=1}^{n-1} S^{n-k} T^k + S^* T^n + T^* T^n \right) \\
 & = (S^n + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + T^n) (S^* + T^*) (S+T) (S^* + T^*) (S^n + \sum_{k=1}^{n-1} \binom{n}{k} S^{n-k} T^k + T^n) \\
 & = \sum_{k=0}^n \binom{n}{k} S^{n-k} T^k (S+T)^* (S+T)^* \sum_{k=0}^n \binom{n}{k} S^{n-k} T^k (S+T) \\
 & = (S+T)^n (S+T)^* (S+T)^* (S+T)^n (S+T)
 \end{aligned}$$

Hence (S+T) is quasi n – binormal operator.

**Example:1.1** Let  $T = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix}$  be an operator on  $R^2$  which is 3QBN but either 3 binormal nor normal. Let  $T = \begin{pmatrix} 1 & 0 \\ 1 & -1 \end{pmatrix}$  be 3 Quasi binormal operator. Then  $T(T^3T^*T^*T^3) = (T^3T^*T^*T^3)T$

$$T^2 = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \quad T^3 = T^2.T = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix}$$

$$T^3T^* = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 1 & -1 \end{pmatrix} = \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix} \quad T^*T^3 = \begin{pmatrix} 1 & 0 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 1 & 2 \end{pmatrix}$$

$$T(T^3T^*T^*T^3) = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1 & 2 \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix}$$

$$(T^3T^*T^*T^3)T = \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1 & 2 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 0 & -1 \end{pmatrix}$$

**Example 1.2** Let  $S = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$   $T = \begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}$  be not commuting (2QBN) operators. Then ST is 2 quasi Binormal operators.

**Solution:** Let  $S = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$   $T = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$  be two operators.

$$\text{Then } ST = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \quad (ST)^2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$

$$(ST)^* = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \quad (ST)(ST)^2(ST)^*(ST)^*(ST)^2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$

$$(ST)^2(ST)^*(ST)^*(ST)^2(ST) = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}. \text{Hence ST is quasi n binormal operators.}$$

**Example: 1.3** If  $T$  is quasi Binormal operator on  $R^2$ , then  $T^*$  is also quasi Binormal operator on  $R^2$ .

**Solution** Consider the operator  $T = \begin{pmatrix} 1 & 2 \\ 1 & -1 \end{pmatrix}$  Then it can be easily verified that

$$T(T^*TTT^*) = \begin{pmatrix} 9 & 18 \\ 9 & -9 \end{pmatrix} = (T^*TTT^*)T \quad \text{and} \quad T^*(TT^*T^*T) = (TT^*T^*T)T^* = \begin{pmatrix} 9 & 18 \\ 9 & -19 \end{pmatrix}$$

Hence  $T^*$  is also quasi binormal operator on  $R^2$ .

**Example: 1.4**  $T \in B(H)$  be an invertible operator on the real Hilbert Space  $H$ . If  $T = \begin{pmatrix} 2 & 0 \\ 1 & 1 \end{pmatrix}$ .

Then both  $T$  and  $T^*$  are quasi normal operators. Also  $T$  and  $T^*$  are quasi binormal operators.

**Solution :**  $T = \begin{pmatrix} 2 & 0 \\ 1 & 1 \end{pmatrix}$  and  $T^* = \begin{pmatrix} 1 & 0 \\ -1 & 2 \end{pmatrix}$  implies that  $T(T^*T) = \begin{pmatrix} 4 & 0 \\ 2 & 2 \end{pmatrix} = (T^*T)T$ . Hence

$T$  is quasi normal operator. Further  $T^*(TT^*) = \begin{pmatrix} 2 & 0 \\ -2 & 4 \end{pmatrix} = (TT^*)T^*$ . Hence  $T^*$  is also quasi normal operator.

$T(T^*TTT^*) = \begin{pmatrix} 8 & 0 \\ 0 & 4 \end{pmatrix} = (T^*TTT^*)T$  Implies that  $T$  is quasi binormal operator.

$T^*(TT^*T^*T) = \begin{pmatrix} 4 & 0 \\ -4 & 8 \end{pmatrix} = (TT^*T^*T)T^*$ . Hence  $T^*$  is also quasi binormal operator.

**Theorem: 1.5** Let  $T \in L(H)$  with the Cartesian decomposition  $T = A+iB$ . Then  $T$  is binormal if and only if

$$AB^3 + B^3A = A^3B + BA^3 \quad \text{and} \quad A^2BA + ABA^2 = B^2AB + BAB^2$$

**Proof:** Since  $T$  is quasi binormal. Then  $T(T^*TTT^*) = (T^*TTT^*)T$

$$T(T^*TTT^*) = (A+iB)(A-iB)(A+iB)(A+iB)(A-iB)$$

$$= (A+iB)(A-iB)(A+iB)(A^2+B^2)$$

$$= A^5 + B^2 A^3 + iA^4 B + iB^3 A^2 + A^3 B^2 + A^3 B^2 + B^4 A + iA^2 B^3 + iB^5$$

$$(T^* T T T^*) T = (A - iB)(A + iB)(A + iB)(A - iB)(A + iB)$$

$$= (A - iB)(A + iB)(A + iB)(A^2 + B^2)$$

$$= (A - iB)(A + iB)(A^3 + AB^2 + iA^2 B + iB^3)$$

$$= (A^2 + B^2)(A^3 + AB^2 + iA^2 B + iB^3)$$

$$= A^5 + A^3 B^2 + iA^4 B + iA^2 B^3 + B^2 A^3 + AB^4 + iA^2 B^3 + iB^5$$

It is easy to observe that T is quasi binormal if and only if (i) and (ii) are true.

**Theorem : 1.6** If  $C_T$  is quasi n binormal operator on a Hilbert space and  $C_S$  is unitarily equivalent to  $C_T$ , then  $C_S$  is quasi n binormal operator.

**Proof:**

$\because C_S$  is unitarily equivalent to  $C_T$  then  $\exists$  an unitary operator U such that  $C_S = UC_T U^*$

$$\text{Consider } C_S (C_S^* C_S^n C_S^n C_S^*) = (C_S^* C_S^n C_S^n C_S^*) C_S$$

$$C_S (C_S^* C_S^n C_S^n C_S^*) = (UC_T U^*) ((UC_T U^*)^* (UC_T U^*)^n (UC_T U^*)^n (UC_T U^*)^*)$$

$$= UC_T U^* UC_T^* U^* UC_T^n U^* UC_T^n U^* UC_T^* U^*$$

$$= UC_T C_T^* C_T^n C_T^n C_T^* U^*$$

$$= U(C_T C_T^{*2} C_T^{2n}) U^* \dots\dots\dots(1)$$

$$(C_S^* C_S^n C_S^n C_S^*) C_S = ((UC_T U^*)^* (UC_T U^*)^n (UC_T U^*)^n (UC_T U^*)^* (UC_T U^*))$$

$$= UC_T^* U^* UC_T^n U^* UC_T^n U^* UC_T^* U^* UC_T U^*$$

$$= UC_T^* C_T^n C_T^n C_T^* C_T U^*$$

$$= U(C_T C_T^{*2} C_T^{2n}) U^* \dots\dots\dots(2)$$

From (1) and (2)  $C_S$  quasi - n – binormal composition operator.

## 2. Quasi -n - Binormal composite integral operators

Let  $(X, S, \mu)$  be a  $\sigma$  finite measure space and Let  $\phi: X \rightarrow X$  be a non singular measurable transformation.  $\mu(E) = 0 \Rightarrow \mu\phi^{-1}(E) = 0$  Then a Composition transformation for  $1 \leq p < \infty$

$C_\phi: L^p(\mu) \rightarrow L^p(\mu)$  is defined by  $C_\phi f = f \circ \phi$  for every  $f \in L^p(\mu)$

In case  $C_\phi$  is continuous .We call it a composition operator induced by  $\phi$  .  $C_\phi$  is bounded operator if and

only if  $\frac{d\mu\phi^{-1}}{d\mu} = f_0$  .This Random Nikodym derivative of the measure  $\mu\phi^{-1}$  w.r.t measure  $\mu$  and it is

essentially bounded.

A kernel  $K \in L^p(\mu \times \mu)$  always induces a bounded integral operator  $T_k: L^p(\mu) \rightarrow L^p(\mu)$

defined by  $(T_k f)(x) = \int K(x, y) f(y) d\mu(y)$

Given a kernel k and a nonsingular measurable function  $\phi: X \rightarrow X$  the composite integral operator

$T_{k\phi}$  induced by  $(k, \phi)$  is a bounded linear operator  $T_k: L^p(\mu) \rightarrow L^p(\mu)$  defined by

$$(T_{k\phi} f)(x) = \int K(x, y) f(\phi(y)) d\mu(y)$$

$$= \int k_\phi(x, y) f(y) d\mu(y)$$

$$(T_{k\phi}^n f)(x) = \int K^n(x, y) f(\phi(y)) d\mu(y)$$

$$= \int k\phi^n(x, y) f(y) d\mu(y)$$

$$k\phi^n(x, y) = \int \int \dots \int k_\phi(x, z_1) k_\phi(z_1, z_2) \dots k_\phi(z_{n-2}, z_{n-1}) K_\phi(z_{n-1}, y) dz_1 dz_2 \dots dz_{n-1}$$

**Theorem 2.1** Let  $k_\phi \in L^2(\mu \times \mu)$ . Then  $T_{k\phi}$  is quasi n binormal if and only if

$$\int \int \int k_\phi(x, y) K_\phi^*(y, z) k_\phi^n(z, t) k_\phi^*(t, p) k_\phi^n(p, s) d\mu(y) d\mu(z) d\mu(t) d(\mu(p)) d(\mu(s)) =$$

$$\int \int \int k_\phi^n(x, y) k_\phi^*(y, z) k_\phi^*(z, t) k_\phi^n(t, p) k_\phi(p, s) d(\mu(y)) d(\mu(z)) d\mu(t) d\mu(p) d(\mu(s))$$



**Proof:** Suppose the condition is true. For  $f, g \in L^2(\mu)$ . We have

$$\begin{aligned}
 (T_{k_\phi} T_{k_\phi}^* T_{k_\phi}^n T_{k_\phi}^n T_{k_\phi}^* f, g) &= \int (T_{k_\phi} T_{k_\phi}^* T_{k_\phi}^n T_{k_\phi}^n T_{k_\phi}^* f)(x) \bar{g}(x) d\mu(x) \\
 &= \int \int (k_\phi(xy) (T_{k_\phi}^* T_{k_\phi}^n T_{k_\phi}^n T_{k_\phi}^* f)(y) d\mu(y) \bar{g}(x) d\mu(x) \\
 &= \int \int k_\phi(x, y) \int (k_\phi^*(y, z) (T_{k_\phi}^n T_{k_\phi}^n T_{k_\phi}^* f)(z) d\mu(z) d\mu(y) \bar{g}(x) d\mu(x) \\
 &= \int \int \int k_\phi(xy) k_\phi^*(y, z) \int k_\phi^n(z, t) T_{k_\phi}^n T_{k_\phi}^* f(t) d\mu(t) d\mu(z) d\mu(y) \bar{g}(x) d\mu(x) \\
 &= \int \int \int \int k_\phi(x, y) k_\phi^*(y, z) k_\phi^n(z, t) \left( \int k_\phi^n(t, p) f(p) d\mu(p) d\mu(t) d\mu(z) d\mu(y) \bar{g}(x) d\mu(x) \right. \\
 &= \int \int \int \int \int k_\phi(x, y) k_\phi^*(y, z) k_\phi^n(z, t) k_\phi^n(t, p) \int k_\phi^*(p, s) f(s) d\mu(s) f(p) d\mu(p) d\mu(t) d\mu(z) d\mu(y) \bar{g}(x) d\mu(x) \\
 &= \int \int \int \int \int k_\phi(x, y) k_\phi^*(y, z) k_\phi^n(z, t) k_\phi^n(t, p) k_\phi^*(p, s) f(s) d\mu(s) f(p) d\mu(p) f(t) d\mu(t) f(z) d\mu(z) \\
 &\quad f(y) d\mu(y) f(x) d\mu(x) \\
 &\dots(1)
 \end{aligned}$$

And  $(T_{k_\phi}^n T_{k_\phi}^* T_{k_\phi}^* T_{k_\phi}^n T_{k_\phi} f, g) = \int (T_{k_\phi}^n T_{k_\phi}^* T_{k_\phi}^* T_{k_\phi}^n T_{k_\phi} f)(x) \bar{g}(x) d\mu(x)$

$$\begin{aligned}
 &= \\
 &= \int \int \int \int \int k_\phi^n(x, y) k_\phi^*(y, z) k_\phi^*(z, t) k_\phi^n(t, p) k_\phi(p, s) f(s) d\mu(s) f(p) d\mu(p) f(t) d\mu(t) f(z) d\mu(z) f(y) d\mu(y) \\
 &\quad f(x) d\mu(x) \\
 &\dots\dots(2)
 \end{aligned}$$

It follows from (1) &(2) that  $T_{k_\phi}$  is quasi n binormal operator.

Conversely suppose that  $T_{k_\phi}$  is quasi n – binormal take  $f = \psi_E$  and  $g = \psi_F$   $h = \psi_G$   $I = \psi_J$  we

See that  $\int \int \int \int \int k_\phi^n(x, y) k_\phi^*(y, z) k_\phi^n(z, t) k_\phi^*(t, p) k_\phi(p, s) d\mu(x) d\mu(y) d\mu(z) d\mu(t)$

$$= \int \int \int \int k_\phi(x, y) k_\phi^n(y, z) k_\phi^*(z, t) k_\phi^*(t, p) k_\phi^n(p, s)$$

Hence the required condition holds.

### Quasi – n – binormal operators in Fockspace

Let F be a Fock Space and  $C_\phi$  is quasi – n – binormal iff  $C_\phi(C_\phi^* C_\phi^n C_\phi^n C_\phi^*) = (C_\phi^* C_\phi^n \cdot C_\phi^n C_\phi^*) C_\phi$

**Theorem: 3** Let  $C_\phi$  be a Composition operator on F. Then  $C_\phi$  is quasi - n –binormal if and only if

$$\text{if and only if } C_\phi(C_\phi^* C_\phi^n C_\phi^n C_\phi^*) = (C_\phi^* C_\phi^n \cdot C_\phi^n C_\phi^*) C_\phi$$

**Proof:**

$$\begin{aligned} \text{Consider } C_\phi(C_\phi^* C_\phi^n C_\phi^n C_\phi^*) &= C_\phi(M_{K_B} C_{\phi^{(n)} \circ \tau} \cdot M_{K_B \circ \phi^{(n)}} C_{\tau \circ \phi^{(n)}}) \\ &= M_{K_{Bo\phi}} C_{\phi^n \circ \tau \circ \phi} \cdot M_{K_{Bo\phi^{(n)} \circ \phi}} \cdot C_{\tau \circ \phi^{(n)} \circ \phi} \dots\dots\dots(1) \end{aligned}$$

$$\begin{aligned} (C_\phi^* C_\phi^n C_\phi^n C_\phi^*) C_\phi &= (M_{K_B} C_\tau C_\phi^n C_\phi^n M_{K_B} C_\tau) C_\phi \\ &= (M_{K_B} C_{\phi^{(n)} \circ \tau} \cdot M_{K_B \circ \phi^{(n)}} C_{\tau \circ \phi^{(n)}}) C_\phi \\ &= M_{K_{Bo\phi}} \cdot C_{\phi^{(n)} \circ \tau \circ \phi} \cdot M_{K_B \circ \phi^{(n)} \circ \phi} \cdot C_{\tau \circ \phi^{(n)} \circ \phi} \dots\dots\dots(2) \end{aligned}$$

Hence the result.

### Conclusion

In this paper some basic properties of quasi – n – binormal operators acting on a Hilbert space H are characterized.

### References

[1] A. Gupta and B.S. Komal, Binormal and idempotent integral operators, Int. J. Contemp. Math. Sciences, 6(34) (2011), 1681-1689.

[2] J. Agler and M. Stankus, m-isometries transformations of Hilbert space, Integral Equations and Operator Theory, 21(1995), 383- 427.

[3] A.A.S. Jibril, On n-power normal operators, The Arabian Journal for Science and Engineering, 33(2A),(2008), 247-25.

[4] A.A.S. Jibril, On 2-normal operators, Dirasat, 23(2) (1996), 190-194.

- [5] A.A.S. Jibril, On operators for which  $T^{*2}T^2 = (T^*T)^2$  International Mathematical Forum, 5(46) (2010), 2255-2262.
- [6] R.K. Singh and J.S. Manhas, Composition Operators on Function Spaces, North Holland Mathematics Studies 179, Elsevier Sciences Publishers Amsterdam, New York, (1993).
- [7] S.A. Alzuraiqi and A.B. Patel, On n-normal operators, Gen. Math. Notes, 1(2) (2010), 61-73.
- [8] S.M. Patel, 2-isometric operators, Glasnik Matematicki, 37(57) (2002), 143-147.